Linear Graphing LG5

The Family of Lines Apphcaﬁo

classwork

"
WORD BANK: steeper, flatter, parallel, ’rr*ans!a’res up, translates down, slope, y-intercept
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What is the relationship among the following equations?

y=3x+1, y= 2x+%, a‘ndy_: 2x =2
Shmme A

Wr‘z‘re an equation of a line whose graph is parallel to and betweeen the graphs of

Given the equation y = x + 5, write an equation of aline n‘ the graph has been shifted up9

uhits.

Given the equation y = -2x 3, write an equation of a line if the graph has been shlfTed

4

Sally graphed the line y = Ex — 4. Ben graphed another line that was parallel to and 5

- units below Sally’s line. Write the equation of Ben's line.

Write and graph the linear parent function. | :

Equation: -
Sy
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1
8. If the slope of the parenT function is changed to ——, how does the new line compare to

the parent? o

10.

of 2 degrees per hour urmI 5:00 p.m. How would the line change if ’rhepem’rre began
a’r 40 degr‘ees‘)

1. Al phone plcm can be modeled by the equahon c=0. 501‘ + 90 where the cost, ¢, is
based on the number of text messages t. If the rate per Tex‘r message doubles what is
the new slope? .
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12. A plumber charges - and a service fee of $55. g -
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Linear Graphing L&5

Use the word bank to fill in the blanks.
WORD BANK: steeper, flaﬂer paml!e! "rr'cmsla‘res up ‘rrans!a‘res down, slope, y-intercept

13.

14.

15,

16.

1
Compare the graphs of the two equations y =3x—4 and y = gx— 4.

The slope of the second equation is 0™ than the slope of the first.

The y-intercept of the second equation is ., the Y-ln‘rer'cePT of the first.

:
Compare the graphs of the two equations y=3x—4 and y = —gx +4.

& ﬁiiﬁw ¥ %&W

The slope of the second equation is

The y-intercept of the second equation is .

The slope of the second equation is

The y-intercept of the second equation is _~

1
Compare the graphs of the two equations y=x and y = Ex — 4. Use word bank.

The slope of the second equation is WQKQ

The y-intercept of the second equation is sl







